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According to the figure sho which statement is true: [T}
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You are asked to connect the following circuit in the lab, to connect it correctly: [T}
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O A. Devices 1 and 4 are ammeters, Devices 2 and 3 are voltmeters ~a 1o
B. Devices 2 and 3 are ammeters, Devices1 and 4 are voltmeters ] J
Q Both A and C are correct

vices 2 ai are ammeters, Devices

@ e of the
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According to the figures which statement is correct: [T} ’
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Q None of these
W C. The current through 4 ohm is equal to the current through 3 ohm
() A The voltage across 4 ohm is higher than the voltage across 5 ohm
@ B.The current through 4 ohm is higher than the current through 3 ohm

Both Aand C
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For the shown function generator device, if you want to generate a square wave with 3000 Hz,
whichsbuttons you have to press:
(1 Point)

~———

B then 4, then rotate the frequency knob P\ L\ %%Umfe- \ﬂ‘lOb

None of the above

Y
Athen 5, then rotate the frequency knob X 8*1\0 \'9—' J C;A éﬂ W (fw

) Cthen 4, then rotate the frequency knob s KY 9> 94 ’-l‘
1 % . -
\/;_ 2, then rotate the frequency knob w l i o

C then 2, then rotate the frequency knob ') 9—? E—J m ) ‘ A D )

.
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For the serieshown, given that the source frequency is 150 Hz R= 2000 chm and
the total impedance phase angle is (-75 ) degree. The capacitor C value is: [1}

(2 Points)

O 1422nF
O 1422nF
) 1422nF

None of the above w: Z‘"’F
=2TxI50
w=300Tl
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© None ofthe above

75 = <4 (T
fan (‘(F: ) ‘

-
-—

300M x € X 2000

C =|-‘l£xlo.7F
= 142.15 n¥

According to the phasor diagram for a parallel RL circuit shown, the symboals X, Y and Z are

referred to: [0
(2 Paints)

Xis for inductor current, Y is for source current and Z is for the resistor current
Xis for resistor current, Y is for source current and Z is for the inductor current

Xis for source current, Y is for resistor current and Z is for the inductor current

None of the above

) Xis for resistor current, Y is for inductor current and Z is for the source current

) Xis for inductor current, Y is for resistor current and Z is for the source current
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ource current and Z is for the resistor current

rrent and Z is for the inductor current

and Z is for the resistor current

or inductor cu Zis for the source curre

or resistor curre is for the source current

04_2nd semester)

For a series R-L circuit :
S

(Note that you can select more than one choice if needed, but the wrong choice
correct one.)
(2 Points)
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For the serie nown, Given that R=200 ohm, L'= 1.5 H and C = 3.5 microfarad. answer the following
——
questions:

| =757-33
2T¥c <2

!

V=150V
f=60.0Hz

h

™ 9 TRL= 5654 H
ol

The magnitude of total impedance in (ohm) is:

2 Poins 523,36

() 5468

303.62
[ MNone of above
@ 152992
L 9

P 1229
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Close

The magnitude of the source current is: (1}
(2 Points|
049 A
O 274A
49A
None of above

15A

The phase angle between the current and the voltage in (degree) is:
(2 Points)

-708
) -439

) -872
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For a parallel R-L circuit, the correct statement is:
(2 Points

() As source frequency decrease, the inductor current will decrease

Vs lag |

As source frequency inc

() None of these

As source frequency decrease, R will decrease

In the case of a parallel R-C circuit, the source current ............ the source voltage.
(2 Points) ]

l
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None of these
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1)
Use the figure to answer the following questions, assume practical germanium diede (Vy = 0.3 V)

50Q A

R,

<
V=10V = sQ SR, \ &
=% ;

The voltage (in volt) cross 5 ohm resistor is: [T}
(2 Points)

None of above Z
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0
For  series R-L=€ circuit, the resistor voltage variation with frequency is shown in the figure, answer the following

questions:

VR A

w
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X

The lower and upper cutoff (corner) frequencies, respectively (fL and fH) are: [}
(2 Points)
None of the above
4and 6
®) 2and8
1and 9
3and7

5 only

The voltage at the resonance frequency is:
| O——
(1 Point)
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